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QUESTION 1

Exhibit. 

Referring to the exhibit, which FC LIF would cause a path failure on a host connecting to a LUN? 

A. fcp_sanluns01prod02p0e 

B. fcp_sanluns01prod02p0g 

C. fcp_sanluns01prod02p0g 

D. fcp_sanluns0lptodOlp0e 

Correct Answer: A 

 

QUESTION 2

Click the Exhibit button. 
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The LUN that is shown in the exhibit is mounted by a Windows 2016 server. In this scenario, which two statements are
correct? (Choose two.) 

A. The LUN has misaligned I/O. 

B. The LUN has aligned I/O. 

C. The LUN\\'s space is reserved. 

D. The LUN\\'s space is not reserved. 

Correct Answer: BD 

 

QUESTION 3

An administrator has expanded a 2-node ONTAP cluster to a 4-node ONTAP cluster. The cluster is using FC LUNs with
all of the default settings. You must rebalance the LUNs to the new nodes. 

Which configuration must be made to achieve this requirement? 

A. The new nodes must be added to the reporting nodes list. 

B. All nodes must be removed from the reporting nodes list. 

C. The original nodes must be added to the reporting nodes list. 

D. The original nodes must be removed from the reporting nodes list. 

Correct Answer: A 
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QUESTION 4

Click the Exhibit button. 

You have a requirement to serve LUNs with under 200 microsecond latency using local server lass memory. You also
are required to use a shared SAN. 

Using MAX Data as shown in the exhibit, which two LUN access protocols are supported with this solution? (Choose
two.) 

A. iSCSI 

B. FCoE 

C. FC 

D. NVMe 

Correct Answer: AC 

 

QUESTION 5

Which two components must be verified for a supported NetApp SAN confutation? (Choose two.) 

A. host memory 

B. host GPU 
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C. host multipath 

D. host bus adapter 

Correct Answer: CD 
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